72iCH= Top 5

1 oil2l= 3x glsialX| o|=430E ETN
2 ol2|= 3x Hf2|X| F§30E ETN
3 oj2/= o|=x4104 ETN

4 o2|= B 2| x| 0]=xH30E ETN(H)

5 o2|= 3x 2#alX| oj=x10d ETN

7| Extet 75 E A YTM

Hal= AE0|d I ETN Al2|=

Hz|x Ix10E ETN Al2[=

Hal= Fx430d ETN Al2|=

H2|= IX3E ETN Al2|=

Halx FH5E ETN Al2l=

H2l= oj=5 elEold I ETN(H) Al2l=
M2l Oj2x410E ETN(H) Al2l=

2| = 0j=x30E ETN(H) Al2|=

2= kAP 378 St ETN

2| = KAP 670 & S2H ETN

o2

i - =

1D

1,004

272

171

148

60

YTM(%)

0.22

2.68

2.56

2.34

245

203

4.36

4.87

2.50

2.46

HAY ETN YYATEY

TW(Avg)

1,212

470

a7

213

286

EFel: pp
1D 1M Chg
0.04 0.07
0.05 0.05

0.03 0.03

0.05 0.28

0.04 0.20

0.04  -0.09
009 -0.15
0.07  -0.48
-0.01  0.42

-0.00 036

7|&Y: 2025-05-09

r
o0
S
2
o
X

£9lE TOP 5 1D 1W(Avg)
H2|x QI A 3x O|=x{30 ETN 3.12% 457%
H2|x QI A 3x 0|10 ETN 2.76% 1.09%
H2|x QI A 3X =X{30H ETN 1.76% 3.86%
M| X QA 2X Oj=x§30'E ETN(H) 1.44% 435%
H2|x QI A 3X FX{10E ETN 1.29% 2.09%
BEI (Break-Even Inflation) ot 0=
BEI (== M-=7IM a2 =2 246 233
HUChH| -0.01 -0.03
=t ds +A4E HEgd 20254 58
cPi7|EE 20254 38
ESE=DN| 0.217%| 0.506%
st 7IE 2.605% 6.071%

*ot/0] 2 10 &AZ 018 I R4 L 2|2

ogt

5 ¢ a2 M8

=



=104

=5

=30

BLEL]

=LY BEI(10H)

) o )
g INd S S
v
A

=X 3.5-10-30= % 104 BEI 0|

EOMH3NE cmm— 5Okl e7 2

o o o o
v \,ﬂ' wfv a’;y VW
e S S N N
& & & 4
» > >

=2l 3-6701 & =2l 30

= 107 -3y =44 30v - 10v

0= 10 0|=%30 0|= BEI(10')
5 —
—
45 M\J \— —
—
4
35
3
2.5 7
2 d B 2 o »
W S S S S
& & & & &
Ol=#H 10-30 & 104 BEI 30|
s O} 0] 30 s 5} - 0] 107
-1
-1.2
-1.4
-1.6
—
-1.8
-2
-2.2
-24
-2.6
g ® i P S
W S & g &
'\9’\/ q{@z ’LQ’L "9’\( ’LQ’L
oh-0] 10 3 30 AZE 0|
0| = 10y - 2v O] =} 30v - 10Y
0.7
0.6
0.5
0.4
0.3
0.2
0.1
0 i b i b b
DAN’\/ ‘0’6\’ ‘06\/ "P’b ")pb‘
"9’1« "9’1/ "9’\/ ’LQ’L ’LO’L

=X 10Y-3y & 30-10Y HE 0|

O|=f 10Y-2Y % 30-10Y HE 0|




MM FHES Y

o

2|(YTM)

7| £ X[ 3=3E =3 HIZ SeEl(YTM) M LCHH|
KR103503GA66 =7}01125-3006(20-5) 20% 0.132 0.042
KR103503GC64 £7101625-3206(22-6) 30% -0.037 0.040
KAP QI E2{|0]d x| TR X| _}
= KR103503GE62 =7}00750-3406(24-6) 50% 0.402 0.040
(Hi2|= elE2fo]M Ixl ETN A|2|X)
K| (7| =R Bt 100% 0.216 0.040
KR103502GDC6 =1104125-3312(=1123-11) 20% 2.690 0.048
KR103502GE63 =1103500-3406(= 1124-5) 30% 2.687 0.047
KAP %xH1OE R xl# KR103502GEC4 =1103000-3412(=1124-13) 50% 2.672 0.047
03000- D24 5 ! )
(HI2|= {10 ETN Al2]=)
K| (7| =R Bt 100% 2.680 0.047
KR103502GD98 = 1103625-5309(= 1123-7) 20% 2.570 0.033
KR103502GE30 =1103250-5403(= 124-2) 30% 2.565 0.033
KAP 3*{30'4 TR x|
KR103502GE97 = 1102750-5409(= 1124-8) 50% 2.555 0.033
(HI2| = =x{30'F ETN Al2]=)
K| (7| =RpAE ) 100% 2.561 0.033
KR103501GDC8 =1103875-2612(=1123-10) 20% 2.347 0.032
KR103501GE64 =1103250-2706(= 1124-4) 30% 2.342 0.047
KAP 3344 TR X|$= -
KR103501GEC6 = 1102875-2712(=124-12) 50% 2.330 0.050
(HI2|= J*H3'd ETN A2 =)
K| (7| =RpAE ) 100% 2.337 0.045
KR103501GD99 = 1103500-2809(= 1123-6) 20% 2417 0.042
KR103501GE31 = 1103250-2903(= 124-1) 30% 2447 0.042
KAP Z*i5 TR x| -
*x LI_ KR103501GE98 =1103000-2909(= 124-7) 50% 2.465 0.048
(HI2|X J*{5'F ETN A2 =)
K| (7| =RpAE ) 100% 2450 0.045
Us91282CJys4 TIPS 1.75 01/15/34 20% 2.000 0.030
US91282CLE92 TIPS 1.875 07/15/34 30% 1.990 0.047
KAP O3 QI E&[0]d J&| TR X|= Al2[X)
US91282CML27 TIPS 2.125 01/15/35 50% 2.061 0.035
(HI2|= o= AE2[o]d JX ETN(H)
Xl (F|Z=XHE B 100% 2.028 0.038
US91282CKQ32 T 4 3/8 05/15/34 20% 4.339 0.088
US91282CLF67 T37/808/15/34 30% 4.358 0.089
KAP O|=2xi10H TR x| —
US91282CLW90 T4 1/411/15/34 50% 4.370 0.087
(HI2Ix o/3xi10E ETN(H) Al2|=)




R|3= (7| =X ) 100% 4.360 0.088
US912810UA42 T 4 5/8 05/15/54 20% 4.881 0.068
US912810UC08 T 4 1/4 08/15/54 30% 4877 0.069

KAP O/ =30 TR X|== _
US912810UE63 T41/211/15/54 50% 4.867 0.067

(Hi2] = o|=x430'd ETN(H) Al2l=)
X5 (7|1 ZXpAL BR) 100% 4873 0.068
KR310101GE93 £0+02890-2509-01 30% 2.520 -0.010
KR310102GC94 £0t03950-2509-03 40% 2.520 -0.010
o

KAP SM 37HE S5 X+ —
KR310105AF45 E0tDC025-0729-0910 30% 2.445 0.000
K= (7| =X ) 100% 2.498 -0.007
KR310101GDAO £0004020-2510-02 30% 2.480 -0.005
KR310101GE10 £0t03340-2601-02 30% 2.420 0.000

°

KAP SUM 6708 S5 X —
KR310101GEB6 £0t02880-2511-01 40% 2.475 0.000
K|= (7| =L B 100% 2.460 -0.002
Us91282C))18 T41/211/15/33 20% 4319 0.085
US91282CKQ32 T 4 3/8 05/15/34 20% 4339 0.088
US91282CLF67 T37/808/15/34 20% 4358 0.089

KIS O|=% 10Y TR X|+
US91282CLW90 T4 1/411/15/34 20% 4370 0.087
US91282CLW90 T 41/411/15/34 20% 4392 0.081
R|a= (7| =X ) 100% 4356 0.086
US912810TV08 T 4 3/4 11/15/53 20% 4.887 0.082
US912810UA42 T 4 5/8 05/15/54 20% 4,881 0.068
US912810UC08 T 4 1/4 08/15/54 20% 4877 0.069
KIS O|=X 30Y TR X|+

US912810UE63 T 41/211/15/54 20% 4867 0.067
US912810UE63 T41/211/15/54 20% 4871 0.086
R|a= (7| =X HF) 100% 4.877 0.074




